
Matrix = 512 x 512 Matrix = 512 x 512 Matrix = 512 x 512

Pixel size = (20 mm/512 pixels) x (30 mm/512 pixels) =
= 0.0390625 mm/pixel x 0.05859375 mm/pixel

Pixel size = (50 mm/512 pixels) x (40 mm/512 pixels) =
= 0.09765625 mm/pixel x 0.078125 mm/pixel

Pixel size = (43 mm/512 pixels) x (36 mm/512 pixels) =
= 0.083984375 mm/pixel x 0.0703125 mm/pixel

ratio = 20/30
ModifyGraph/W=$name width={Aspect,ratio}

ratio = 50/40
ModifyGraph/W=$name width={Aspect,ratio}

ratio = 43/35
ModifyGraph/W=$name width={Aspect,ratio}
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